C:# Dividiendo Numeros Enteros

Nombre:
Resuelve cada problema. Respuestas
1) 39:7= 2) 43+5=
- 1
2.
3
3 537+3= 4) 68+2 = 4
5.
6.
7.
5 88+2= 6) 849+8 =
8.
9.
10.
) 92+2 = 8 15+9=
- 11.
12.
9 42+2= 10) 378+9=
11) 29+7 = 12) 445+7 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividiendo NUmeros Enteros

Nombre: Clave De Respuestas

Resuelve cada problema.

1) 39+7=

3 537+3=_ 179

5 88+2= 44

) 92+2= 46

9 42+2= 21
11) 29+7= 4r1

5r4

2) 43+5= 8r3

4 gg=2= 34

6) 849+8= 10611
8 15+9= 116

10) 378:9= 42

12) 445+7 =

63r4

10.

11

12.

Respuestas

5r4

8r3

179

34

44

106 r1

46

1r6

21

42

4rl

63r4
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